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I 7 mwn: the four mmay
a  If: anoa or nron was slaughtered 1nwH XYW, or NPT IR 1IN ,"Yap was done NYH RHY
i Or: 1mwY and then 1nwY YW — or vice-versa — invalid
ii ~ Example: noa nwo nony, later mmay o'ndw nwh; or onHvw nwo nvnw and later noa owY mTay
b  Reason: there are four mmay at which nawnn can invalidate 129p — npn NI ,N%ap ,NVMY
i Dissent (w™): 290 doesn’t invalidate, as the others are all indispensible for a 127p
1 However: na%n is dispensible; the 127p could be slaughtered adjacent to the namn
it Moderating opinion (8”7): N29n which is necessary can invalidate; N2 which is unnecessary cannot
II  Analysis and xn»92 of ™1 v
a  Challenge: does nYap really invalidate (an improper nawnn during n%ap shouldn’t invalidate): per...
i a3z v. 1Mpm refers to o0 NYap (as 1pIr covers NpOT)
1 And: 1R %12 means it must be 793 173 and with proper 0’93 (from v. 2 — they are wearing proper n1n3 711)
2 v”r had heard a distinction between n%ap and np»1, but didn’t remember what it was
3 y7ronly in re: np»ar is (1) nawnn=nwyn; (2) if done by %oa invalidates, (3) yIn np»1 carries N2 wny
(a) v”r praise for " who “salvaged” his memory for him
b Resolutionl (»27): our mwn includes nYap for MWYH 8HYY Nawnn; kN1 excludes nYap for Y18 nawnn
i Support: from careful reading of nwn — only says Y091 and not Y39nn
ii  Challenge: 2 nawnn at nap is effective — per Xn>» 1 interpreting v. 3 which only explicates np»r (¥ RY)
1 Inclusion of 75371 AvPnw: Y38 YaRN — anything that leads to eating; as np» 1 was included in all mmay, was
mentioned explicitly to serve as a model — only mmay which are necessary for 0193, excluding n»w etc.
¢ Resolution2 (’¥37): (w2 also included) if he slaughtered with intent to do 0Th n%ap at the wrong time — %
i But:if he did nyap with intent to throw out 0»w at the wrong time — not 59
ii ~ Challenge (student to X37): DPW N9V is also a “flashpoint” for H1a — per Yar’ Harn, anything necessary for either
human consumption or devouring on namn
iii  Resolution: W n>aw is a moment of nvxan nawnn, but is not an object of nYian nawnn
II 5w at point of Y2k N%20 in a NM2a NRVN (note: v. 4 stipulates that 10> must dip his finger in 07 and then sprinkle p»91)
a  ®”n’771nmm " heard a ruling that s can happen at point of yaxr n%av
i Challenge (8719 7): 0 is inferred from 0'n5w; just as 0'N%w has no nYan PIRR > PIXR N1V is never NH3aN
ii  Block: if we infer all of 918 from D'n%w, then just as 5wa followed by 1mw5 ®Yw nawnn doesn’t erase the Y129
1 So too: a nkon with %109 nawnn at nv'nw followed by 1YY XYW nawnn afterwards (5019) shouldn’t erase Y10
2 Explanation: a status of 9a only obtains if remainder of mTay don’t invalidate j29p
(a) Rather: apply Y14 to all n1a7p from extra wording (938 Yaxn) = whatever invalidates that j129p spares it
(b) Variant response (832211 92 2by *3): we do infer from nnYw
(i) Just as: that which invalidates Dn5w (e.g. YmpnY yin nawnn) “spares” it
(ii) Similarly: whatever invalidates other n21p (e.g. nRoN2 NMWVH XYW NawnN) “spares” it
(iii) Challenge (707 77): can’t infer w5 R5W (only applies to nkVM Noa) from yMpnY Pin (applies to all)
(c) Rather: infer all from pn5w; that which invalidates D'n5w “spares” it and that which is indispensible (all
four mmay) are “5wa-moments” > all nnuavp, that which invalidates them spares them
(d) Support: x:® mmnan — VPP PHN Y1 NN ,PMp with NNty Yin navnn > Swa
(i) We understand correlation of: OMW::pmIp; PHINZTHIN; POPN:PIT — but *952 Nma has no corollary (un-
like 07N nYap, which happens organically, this requires an active placing)
1. Therefore: since it is necessary for the nnin = is a “Y19-moment”
2. Similarly: 719 NRONA PIXR NYIV is a necessary step = nran
3. Rejection: ¥931 nymi is parallel to nap; since it goes into MW *%3, we ignore the above distinction
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iii  Suggestion: yaxR n%ava Y14 is a WRIN NPIYNA (competing M1 if it is Yan)
1 Rejection: mmn» 31 are v"1/1121 (V™ rejects significance of na%n::=> Yasr n»av?)
2 Challenge: ™ maintains that 1a doesn’t apply to anything not brought on outer nam
(a) Therefore: issue of ya¥R nYav cannot be ascribed to him, rather...
iv  Solution: both are 1127; one Rn’ 1 (that ignores paxr n%1v) is re: outer Mmrvn; the one that considers it significant is
re: NYNNa MRLYN
1 Challenge: should be obvious that yaxx n%»2v doesn’t have an impact on n1¥'n MRrvN — it doesn’t say Y201 in
that context
(a) Justification: since it says np% and if the blood were to come on to his finger without him taking it, he’d
need to take it again (to actively take it), we should consider as if it states Y20
(b) Therefore: it omitted the word 201 but stated np% so that we know:
(i) He is obligated: to dip his finger in the blood
(ii) But: that act is not considered an nTay to allow for Y14 nawnn
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